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Unit 5 Review

Solve system of linear equations by graphing.
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Solve system of linear equations by substitution.
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Solve system of linear equations by elimination.
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Linear Systems Word Problems

. Atest hasltwenty questiongworth 100 points. The test consists of True/False questions worth 3 points

each and multiple choice questions worth 11 points each. How many multiple choice questions are on
the test? X=#%# of T /F

i
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Equation 2: 6\("'”% =100
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. The difference of two numbers is 3. Their sum is 13. What are the two numbers?

Equation 1:

Equation 2:

Solution:

. The admission fee at a small fair is $1.50 for children and $4.00 for adults. On a certain dayj 2200 [

people enter the fair and $5050 is collected. How many children and how many adults attended?

X: 4 Ch.n\c{f‘fn
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. Atanj m parlor, ice cream cones cost $1.10 and sundaes cost $2.35. One day, the receipts for a
otal of 172 ¢ones and sundaes were $294.20. How many cones were sold?

WT ot cones
Equation 1: L[;\X‘Hj '-"ﬂlj”a 25 HT#O'F nd aes
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Solution: XL cones
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Lisa goes to the mall one day and buys four shirts and three pairs of pants for $85.50. She returns the
next day and buys three shirts and five pairs of pants for $115.00. What is the price of each shirt and
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each pair of pants? V= f of Shirk§
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Graphing Linear Systems Practice

1. . Solve the following, system of equations by graphing.
=4y + 3y =124
~Ix+ Iy=-18 ?;

a)) x—y= = K-
5;4*7*%1

b} x—y=4 ﬂ: )("-\-ﬁ—

Sx+Tv=17

€} x-y=06 z k-

Gxe+Ty=1

d) x—y=8 ;j = X-8 y

Tx4+ 35y =

>

Which ]mear aystﬁm is represented by this graph?




Graphing Linear Systems Practice

3. Which graph reprgsents the solution of the linear system:
“dx—y=—4

3x — =
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Which graph represents the solution of the Jinear system:
y=-2¢x+2
v+ h=2x
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Answers to Word Problems Practice (ID: 1)

ot 2) C 3) B 4) B
9)=C 6) C 7 A
9) B 10) B ) ¢ A
Answers to Elimination Practice (ID: 1)
1 (0,3) 2) (0,-10) 3) (-8, 8) 4y (=2,-1)
5) B 6) B 7) D 8) D
9) B 10) B
Answers to Substitution Practice (ID: 1)
D (3,5) 2) (~4,2) 3) (3,-8) 4) (2,-5)
5) C 6) A 7) B 8) A
9) A 10) C




Answers to Graphing Inequalities Practice (ID: 1)
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Answers to Graphing Systems of Inequalities Practice (ID: 1)
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Solve each system of equations below using
multiplication with the addition method. Find the
solution in the answer column and notice the word
next to it. Write this word in the box containing the
letter of that exercise. Keep working and you will
hear about some “udder” nonsense.
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OBJECTIVE 6-f To solve systems of equations using multiplication
wilh the addition method (equations are in standard form).
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Writing Systems from Word Problems Practice

1, A sporting good store sellsright-handed|and Jeft-handed poseboLgiove;} In one month}12 |
gloves were sold for altotal revenue of $528.) kighf-hdnded gloves cost $‘2f§ and !ef’r—hdnded
"‘g’@?%?@%osﬁig How many of each type of glove was sold.
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2, For a:community bake sale, you purchases 12 pounds o?gagqr and 15 pounds of flour. Your
total cost was $9.30. The next day, you purchased 4 pounds of sugar and 10 pounds of flour.
Your total cost the second day was $4.60. Find the cost of a pound of sugar and a pound of

flour. X: 5‘ SLA%OUf 17 ;.-g 4+ I8y =35 \2 xSy =4.80
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3. Radio Tower had a special on rechargeable bdiferies. I sold AA for $1 and AAA for $0.75. It
sold 42 batteries on a single day and received $37. How many batteries and of which type

were sold? =t EY 4N 47 ){\ +206% 43?
= K of AA badents SN i, Ix=2er)
\l —4ro £ ARA LA e m%%’ i I N - f??_j; SARRESC

. Sy R Al

- . 28y2 -8

N 220

4. Elisa and Stefan each improved their yards by planting gayiiies and ivy. They bought their
supplies from the same store. Hlisa spent $26 on 14 daylilies and 3 pots of ivy. Stefan spent $104
on 16 dayliies and 2 pofs of ivy. Find the cost of one daylily and the cost of one pot of ivy.
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5. The sum of two numbers is 47, and their difference is 15. What is the value of the smaller and
~ largernumber?  x y’[:%'i X4 y= P
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Why Did the Three Pigs Leave Home?

Graph each inequality below. Circle the letter of the statement that correctly —
describes the location of the graph. Print this letter in each box at the bottom of

page 31 that contains the number of the exercise.
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KD Quadrants I, 0, 1V CS Quadrants |, 11, 1V;
includes boundary line. =" excludes boundary line.
@ All four quadrants; B All four quadrants;
= includes boundary line. includes boundary line.
| Quadrants I, IIl, IV; F  Quadrants I, Ill, IV; —ui
excludes boundary line. excludes boundary line.
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V Al four quadrants; @AII four quadrants; Quadrants |, 1l;
excludes boundary line. =" excludes boundary line. includes boundary line.
amm Al GFRRA WITH PIZZA77! OBJECTIVE 2-i: To graph linear inequalities in two variables
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L QYadrants 1R K

excludes boundary line.

W | Quadrants I, Il
excludes boundary line.

G Quadrants |, lI;
excludes boundary line.

€
uadrants |, 1ll, IV;
excludes boundary line.

U Quadrants II, Il IV;
includes boundary line.

All four quadrants;
includes boundary line.

Q’—' All four quadrants, :
excludes boundary line.

P Quadrants I, I, IlI;
excludes boundary line.

Quadrants |, Ill, IV;
excludes boundary line.

M

~

)‘5‘3 A=Y & g EBRTS
@3x+y>0 2(x—y)=5" 9“/70”@ OY i = O 7 7’ =
HE f. I i: l.{ f ..g;]
AV i h " | AIERE i !
kAR 2 HHHA R H
\ Il P R
d | ! 4 /,J", } |'!:' i N
immmat 1 ast O G mmc B0 Drasmmuy
SRy ¢ pruIn| RN
RIRY| 4?”:_].,- Pl I LA
RRUNIAT LA \{‘f" L) A~
RIUA WP atliiRaLN 1Ll
! : P ._\" \ \ '\\. ‘; 1 <

@ Quadrants I,.N, :
, excludes boundary line.

JLLLET
All four quadrants

excludes boundary line.

N Quadrants |, lll, IV,
excludes boundary line.

L All four quadrants; U Quadrants I, lil, 1V; @ All four quadrants;
includes boundary line. includes boundary line. —"includes boundary line.
M Quadrants I, lll, IV, @ Quadrants |, lil, 1V; D AQuadrants I, I, IV;
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